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1) PART A General Paper

Question No. 1/ Question ID 2155 Marks: 2.00

The table given below shows the distribution percentage of number of candidates qualifying a Common Entrance Test (CET) in sixX cities
A-F during the year 2020 and 2021, along with the ratio of males (M) to females (F) among the qualified candidates. The total number of
qualified candidates in all the six cities together during 2020 and 2021 are 3800 and 4600 respectively. Based on the data in the table,
answer the question that follows:

City-wise Distribution of CET Qualified Candidates.

Years 2020 2021
(Distribution % [Ratio (Distribution % |Ratio
City of Qualified of Qualified
Candidates MF Candidates MF
A 13% 85 24% 52 F
B 27% 11:8 15% 12:11
C 11% 74 23% 15:8
D 20% 23 17% 89
E 8% 53 8% 13
I3 21% 13:8 13% 5:8

The average of the number of females qualified from all the six cities together in 2021 is
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Question No. 2 / Question ID 2152 Marks: 2.00

The table given below shows the distribution percentage of number of candidates qualifying a Common Entrance Test (CET) in six cities
A-F during the year 2020 and 2021, along with the ratio of males (M) to females (F) among the qualified candidates. The total number of
qualified candidates in all the six cities together during 2020 and 2021 are 3800 and 4600 respectively. Based on the data in the table,
answer the question that follows:

City-wise Distribution of CET Qualified Candidates.

Years 2020 2021
(Distribution % [Ratio (Dustribution %o |Ratio
City of Qualified of Qualified
Candidates MF Candidates MF
A 13% 8:5 2424 27
B 27% 11:8 15% 12:11
Cc 11% 74 23% 15:8
D 20% 23 17% 89
E 8% 53 8% 13
F 21% 13:8 13% 5:8

The ratio of number of females qualified from City-D in 2020 to that of City-E in 2021 is
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Question No. 3 / Question ID 2153

Marks: 2.00

The table given below shows the distribution percentage of number of candidates qualifying a Common Entrance Test (CET) in six cities
A-F during the year 2020 and 2021, along with the ratio of males (M) to females (F) among the qualified candidates. The total number of
qualified candidates in all the six cities together during 2020 and 2021 are 3800 and 4600 respectively. Based on the data in the table,

answer the question that follows:

City-wise Distribution of CET Qualified Candidates.

Years 2020 2021

(Distribution % [Ratio (Dustribution %o |Ratio

City of Qualified of Qualified
Candidates MF Candidates MF

A 13% 8:5 2424 27

B 27% 11:8 15% 2

Cc 11% 74 23% 15:

D 20% 23 17% 89

E 8% 53 8% 13

F 21% 13:8 13% 5:8

The number of females qualified from City-F in 2020 is
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Question No. 4 / Question ID 2151

Marks: 2.00

The table given below shows the distribution percentage of number of candidates qualifying a Common Entrance Test (CET) in six cities
A-F during the year 2020 and 2021, along with the ratio of males (M) to females (F) among the qualified candidates. The total number of
qualified candidates in all the six cities together during 2020 and 2021 are 3800 and 4600 respectively. Based on the data in the table,

answer the question that follows:

City-wise Distribution of CET Qualified Candidates.

Years 2020 2021
(Distribution % [Ratio (Distribution %0 |Ratio
City of Qualified of Qualified
Candidates MF Candidates MF
A 13% 8:5 2424 27
B 27% 11:8 15% 12:11
Cc 11% 74 23% 15:8
D 20% 23 17% 89
E 8% 53 8% 13
F 21% 13:8 13% 5:8

The difference between the number of male candidates qualified from City-B in 2020 and City-A in 2021 is
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Question No. 5/ Question ID 2154 Marks: 2.00

The table given below shows the distribution percentage of number of candidates qualifying a Common Entrance Test (CET) in six cities
A-F during the year 2020 and 2021, along with the ratio of males (M) to females (F) among the qualified candidates. The total number of
qualified candidates in all the six cities together during 2020 and 2021 are 3800 and 4600 respectively. Based on the data in the table,
answer the question that follows:

City-wise Distribution of CET Qualified Candidates.

Years 2020 2021
(Distribution % [Ratio (Dustribution %o |Ratio
City of Qualified of Qualified
Candidates M:F Candidates MF
A 13% 85 24% 527
B 27% 11:8 15% 12:11
c 11% 74 23% 15:8
D 20% 23 17% 89
E 8% 53 2% i3
F 21% 13:8 13% 3-8
The number of females qualified from City-B in 2021 1s approximately % more than the number of males qualified from City-E in the vear
2020
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Question No. 6 / Question ID 2166
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Question No. 7 / Question ID 2189

In case of nuclear energy, the objective of enrichment process is AT Soil & HAd # YaeH HhH 3T SaRT ¢
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Question No. 8 / Question ID 2161
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One of the characteristics of probability sampling is

. Population bias 1. SIS Dﬁﬁfﬂ—g{
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Question No. 9 / Question ID 2174

Marks: 2.00




Find a single discount equivalent to a series discount of 20%. 10% and 3%

1.30 %
.31.6%
. 30.6%
4.32%
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Question No. 10 / Question ID 2177

Which of the following statements is contrapositive of "All whales are mammalg"?

1. Some whales are mammals.
2. All non-mammals are non-whales.
3. Some mammals are whales.
4, All mammals are whales.
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Question No. 11 / Question ID 2178

Which of the following is contradictory to the statement- "No birds are mammals"?

. Some birds are not mammals.
. Some birds are mammals.

. All birds are mammals.

4. All mammals are birds.
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Question No. 12 / Question ID 2190 Marks: 2.00
International Solar Alliance (ISA) was launched in the year &W@q R g (Gﬂ_ap Tq U)ol ﬂ”ﬂ”—f foog aﬁf_g'\}lT :
1.2015 1.2015
2.2016 2.2016
3.2017 3.2017
4,2018 4, 2018
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Question No. 13 / Question ID 2195 Marks: 2.00

According to NEP 2020, match the functions of independence verticals of HECI

Match List I with List IT

LIST I (Verticals of HECT) LIST II (Functions)
A [NHERC 1. JAccreditation of institution
B [NAC II. JAcademic standard setting
C. [HEGC 111 |[Regulator for higher education
D. |GEC IV [Funding and financing of higher education|

Choose the correct answer from the options given below:

1. A-IIL. B-II. C-IV. D-1
- A-IILL B-IV. C-I1. D-I

b2

3. A-IIL. B-I1. C-I1. D-IV
4. A-IIL. B-1. C-IV. D-II
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1. A-IIL B-II. C-IV. D-1
A-IIL B-IV. C-IL. D-I
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3. A-IL B-I. C-I1. D-IV

4. A-IIL. B-1. C-IV. D-II
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Question No. 14 / Question ID 2176 Marks: 2.00

Which informal fallacy is committed in the following statements- " Your argument that I should stop stealing chocolates from the corner
store 1s no good. You told me yourself just a month ago that you. too. stole chocolates when you were a kid".

1. Red Herring

2. Strawman

3. Missing the point (Ignoratio Elenchi)

4. Ad hominem
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Question No. 15/ Question ID 2187 Marks: 2.00
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A 30 dB increase in noise pollution level represents:
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1. 30 -fold increase in sound intensity o .
2. 100- fold mnerease in sound intensity 2. @ # ﬁ 10010 q@
3. 1000- fold increase in sound intensity 3. & 1 cfferam ﬁ 1000 7701 q@
4. 15- fold increase in sound intensity 4. @A P dlgar g 15 o q@
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Question No. 16 / Question ID 2156 Marks: 2.00




In MOOQCs (Massive Open Online Courses). an nutiative under NME-ICT Programme. the fourth quadrant 1s related to:

. e- content

. Self-Assessment
. e-Tutarial

. Web Resources
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Question No. 17 / Question ID 2159 Marks: 2.00

A teacher is preparing a course of science. He/She wants to add an exercise that promotes collaboration and problem solving ameng
learners. What kind of group should he/she form?

. Independent student assignment
. Teacher-centric groups

. Student-centric groups

. Social groups
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Question No. 18 / Question ID 2160 Marks: 2.00




A teacher divided the students of a class mnto tour small groups and in each group three students are present. They have to complete a
project in online mode by adding all the related material. Which tool is most appropriate according to you?

1. Padlet

2. Camera

3. Quizzes

4. Screen-castomatic
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Question No. 19 / Question ID 2194 Marks: 2.00

National Skill Qualification Framework (NSQF) is a competency based framework related to

1. Knowledge. Skills and Attitude

2. Understanding. Application and Analysis
3. Knowledge. Skills and Aptitude

4. Understanding. Analysis and Synthesis
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Question No. 20 / Question ID 2168 Marks: 2.00




The criteria for good public service communication by media are:

A. Limit on audience action and reaction
B. Subjective slant

C. Evenhandedness

D. Avoidance of rancour

E. Separating facts from opinion

Choose the most appropriate answer from the questions given below:

1.A.Band C
2.B.CandD
3.C.Eand A
4. C.Dand E

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)
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Question No. 21 / Question ID 2162 Marks: 2.00
ol auie o wesd Wy Fgifed 0 9 feed ufvgul 82
Covert research in ethnography is beset with
; 1. dafdie gg
1. Personal 1ssues 5 ﬁﬁ:’lﬁ H_E:
2. Ethical 1ssues g
3. Political issues
4. Historical 1ssues 4. QIEEB R @
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
Question No. 22 / Question ID 2175 Marks: 2.00

A man walks 1km towards east and then turns southwards and walks 5 km. Again he turns to east and walks 2 kms. After this he turns to
the north and walks 9 kms. How far is the man from his starting point?

.5 km
.6 km
.6.5km
.7 km

B
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Question No. 23 / Question ID 2171

Marks: 2.00
Find the next term in the series given below: = gt 11'5E 3!@?’" p= BT E) [G R d 3Id GAIN U
s Y320 2o 19 200,
1.24 1.24
228 2.28
3.30 3.30
4.36 4.36
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]
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O 4
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Question No. 24 / Question ID 2165 Marks: 2.00

Grven below are two statements:

Statement I: Gaining access to a public or social setting 1s an important issue in ethnographic research.

Statement IT: There is no distinction between overt and covert ethnography in terms of access and participation.

In the light of the above statements. choose the most appropriate answer from the options given below:

. Both Statement [ and Statement IT are true.
. Both Statement [ and Statement IT are false.
. Statement I is true but Statement IT is false.
. Statement I is false but Statement IT is true.
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Question No. 25 / Question ID 2184

Marks: 2.00




Match Last I with List 11

LIST I (Question)

LIST II (Value)

=

file?

[f the broadband data download rate 1s 40 megabits per second, then how many seconds will it takes to download a 60 megabytes

I. 164000

[Base -10 (denary) value of the binary number: 1000001

I |12

=il =

Number of & megabyte files that can be stored on a backup memory device having 500 gigabyte of storage.

I 17

. [What hexadecimal value 1s obtamned when the two hexadecimal digits B and C are added together?

IV |63

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-I, D-TI
2. AL B-IV. C-1. D-III
3. A-IV. B-III. C-IT. D-I

4. A-I1, B-L. C-IV. D-III

=il 191 Gl 11 9 e Siforg

I 1 ()
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64000

(G TRT H%=AT1 1000001 @1 69 10- (GURD) A

II.

12

500 TTTETEE TS dIc QUG &1 dd U B H Thied & ol & § H€Ise did Biedl &l 9
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V.

65
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1. A-IIL B-IV. C-1. D-II

[

CA-IL B-IV. C-1. D-III

3. A-IV. B-III. C-I1. D-I

4. A-IL. B-L. C-IV. D-III

O 1
1
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2
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Question No. 26 / Question ID 2192

Marks: 2.00

A section of the Muslim Community opened a number of Azad schools in Uttar Pradesh and led by Maulana Mohammad Ali in 1920

established the Jamia Milia Islamia or Muslim National University in which of the following Indian Cities?

. Delhi

. Hyderabad
. Lucknow
4. Aligarh
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Question No. 27 / Question ID 2188 Marks: 2.00

Turbidity, one of the important water quality parameters. is measured in

1. Color units

2. pH units
3.NTU

4. Microgram/ny
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(Chosen Option)
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Question No. 28 / Question ID 2191 Marks: 2.00

National Couneil for Vocational Education and Training (NCVET) is under:

1. Ministry of Education

2. University Grants Commission (UGC)

3. Ministry of Skill Development and Entreprencurship
4. All India Counecil for Technical Education
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1. FRrem dare™
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4. 3T YRdg ae-ia! e ufve

O 1
1

O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
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Question No. 29 / Question ID 2169 Marks: 2.00




(iven below are two statements:

Statement I: A large portion of mediated cultural transmission involves traditions. language. beliefs. attitudes and values from one
generation to another.

Statement IT: Such a proecess will contribute for the unconscious cultural development of individuals in the society.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement T is true but Statement IT is false
4, Statement I is false but Statement IT is true
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1 (Chosen Option)
1 (Chosen Option)
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Question No. 30 / Question ID 2183 Marks: 2.00

Both Wi-Fi and Bluetooth offer wireless communication between devices. Bluetooth 1s useful when

A. Transferring data between two or more devices which are less than 30 meters apart.
B. The speed of data transmission is not critical.
C. Using high bandwidth applications (for example. sending music files from a mobile phone to a headset).

Choose the most appropriate answer from the questions given below

. A and B only
. Aand C only
. B and C only
LA, Band C
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Question No. 31 / Question ID 2173 Marks: 2.00

A batsman has a certain average of runs for 16 innings. In the 17th iming he makes a score of 835 runs, thus increasing his average by 3

runs. What 1s average of the batsman after 7 mnings?

.35

.37

.45
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Question No. 32 / Question ID 2182 Marks: 2.00

The action of illegally installing malicious code which redirects a person to a fraudulent website with the purpose of obtaining that
person's bank details 1s called

1. Phighing
2. Pharming
3. Spamming
4. Smishing
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Question No. 33 / Question ID 2163 Marks: 2.00




[gifdd H 9 91 oIS TR DI YU [9R¥an g2
A. T8 30&1Hd &8 WI9S eidl o |

Which of the following are characteristics of qualitative interview?

AL TR s Ached B. 391 YNeddl & WIDRI & idlds e g

B. It reflects researcher's concerns. C. 54 HI&HIP TR TaRR ‘3? @ &Td B DI G@ﬁ Eﬁ?ﬁ % I
C. The interview is allowed to ramble. D. 9 UIMPR § 91 q—ﬂq;d PO

D. The interview has standardized questions. E.ggeeudqudagaie |

E. It is flexible in approach.

12 feu Tt faded] O ¥ 981 IR &1 994 HIfIU:

Choose the most appropriate answer from the questions given below:

1. A, B. and C only 1. 3T A B, ARC
2.B. C. and D only 2.%4dd B, C__&ﬁ? D
3.C.D. and E only 3. %ad G IR E
4. A, C, and E only 4.%dd A.C.3RE
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 34 / Question ID 2164 Marks: 2.00

Which of the following factors must be taken into account in quantitative research?

A, Measurement

B. Causality

C. Replication

D. Exclusion of statistical analysis
E. Less importance to standarisation

Choose the most appropriate answer from the questions given below:

1. A, B. and C only
2.B. C. and D only
3.C.D. and E only
4. A, C. and D only
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Question No. 35/ Question ID 2170 Marks: 2.00




Given below are two statements:
Statement I: The circular model of communication does not favour feedback.
Statement IT: The linear model of communication demands continuity of communication and enables immediate feedback.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement [ and Statement IT are false
3. Statement I is true but Statement IT iz false
4. Statement I is false but Statement IT is true
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(Chosen Option)

1
2
2
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3
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4 (Chosen Option)

Question No. 36 / Question ID 2180 Marks: 2.00

Given below are two statements:
Statement I: According to Classical Indian School of logic (Nvaya) the middle term must be present in the minor term.
Statement IT: According to Nyaya School the middle term must be absent in all negative instances in which the major term is absent.

In the light of the above statements. choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement IT are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II 1s correct.
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Question No. 37 / Question ID 2193 Marks: 2.00

Which of the following were considered as Vedangas in the ancient education system of India?

A, Metrics
B. Grammar
C. Phonetics
D. Ritual

E. Astrology

Choose the most appropriate answer from the questions given below:

.A.Band C only
.A.B.CandE only
.Band C only
.A.B.C.Dand E

YR &1 W= a1 gonedl 8§ fHgifed 3 9 fb=s daiv 91 oirdr Ui
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Question No. 38 / Question ID 2158 Marks: 2.00




Given below are two statements:
Statement I: In explicit long term memory bits of information may be stored and interrelated in terms of propositional networks.
Statement II: Implicit long term/ memories are out-of-awareness memories that can't affect thinking and behavior.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement IT are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is icorrect but Statement II is correct
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Question No. 39 / Question ID 2172 Marks: 2.00

12 Men are assigned a job to be finished in 30 days. After 10 days it is observed that only 1/6™ of the job is completed. How many extra
men are required to be deployed to do the rest of the job so that the job is completed within scheduled time?

20

22

18
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Question No. 40 / Question ID 2167 Marks: 2.00




AR A1 HIYHRd: 41eid 8id &

Mass media mostly operate in

1. Personal Sphere 1. 3afd® & 5 i
2. Bureaucratic Sphere 2. THRME! & F
3. Public Sphere 3. grdo-e &9 5
4. Ethical Sphere 4. 9fd® e d

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 41 / Question ID 2181 Marks: 2.00

In 1965, Gardon Moore. Co-founder of Intel. made a prediction about the future of computer processing. What does his prediction. known
as Moore's Law, say?

. As technology continues to advance. computer chips will become obsolete.

. Computer processing power will double every 18 months to two year.

3. There will eventually be no need for transistors in high tech electronies.

4. As the number of transistors inereases, computer processing power will be reduced by half every two years.
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Question No. 42 / Question ID 2179 Marks: 2.00

If the statement "Some animals are birds" is given as true. Which of the following statements can be immediately inferred to be false?

1. No animals are birds.

2. All animals are birds.

. Some animals are not birds.
. All animals cannot fly.
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O 4 (Chosen Option)
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Question No. 43 / Question ID 2185

Given below are two statements:

Statement I: .mp4 and .gif are two file extensions used with files containing moving images.

Statement II: .rar and .zip are two file extensions used with files containing compressed data.

In the light of the above statements. choose the most appropriate answer from the options given below:

1
2

=

. Both Statement I and Statement II are true.

. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4, Statement I is true but Statement IT is false.
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ST PYTIR PUT I I B
ST HUA 1 AR HUT I T B
HYFT1IA §. Al HUT 11 ATA B
FHYF1 T ©, Afh BUT 11 T B

1 (Chosen Option)
1 (Chosen Option)

Marks: 2.00

Question No. 44 / Question ID 2157

Match List I with List IT

LIST I (Type of learning theory) LIST II (Theorist)

A [Behavioral theory of learning [ |Albert Bandura
B [Individual constructivist theory of learning| 1T [Lev Vygotsky
C. |Social constructivist theory of learning III. J. Piaget

D. [Social cognitive theory of learning IV |B.F. Skinner

Choose the correct answer from the options given below:

B R S

. A-IV. B-II. C-1. D-III
. A-IV. B-IT1. C-I1. D-I
A-IL B-IV, C-II1. D-I
A-I. B-IV. C-11, D-III

= 191 gl 11 9 i Hifere

Marks: 2.00
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4. A-I. B-IV. C-II. D-IIT
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Question No. 45 / Question ID 2186 Marks: 2.00

afye o= & Fgifea § 9 fae gaiftie dieH &2

Which of the following activities has contributed maximum to global warming?

Y 1. ST weH e
. Industria processes > e
2. Deforestation
3. Agriculture 3. E@Efﬁ D)
4, Fossil fuel combustion 4. Sllg=g g‘il:ffb—[ aGH
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4

Question No. 46 / Question ID 2198 Marks: 2.00




E.ead the passage and answer the question given below:

Alternatives are not lacking in the world. What is indeed missing 1s an alternative thinking of alternatives. whenever it 13 said that there are
very interesting things happening in Asia, Africa and Latin America. the Western answer 1s that developed countries do not have same
problems. As such. the West does not need their kinds of solutions. There are two inferences from this: First. the understanding of the
world is much broader than the western understanding of the world. This means that the progressive transformation of the world may also
occur in ways not foreseen by western thinking. It includes eritical western thinking. Second. the diversity of the world is infinite. It is a
diversity that encompasses very distinet modes of being. thinking and feeling: ways of conceiving of time and the relations among human
beings and between humans and non-humans, ways of facing the past and the future and of collectively organizing life. the production of
goods and services. as well as leisure. This immensity of alternatives of life, comforts and interaction with the world is largely wasted
because the theories and concepts developed in the global North and employed in the entire academic world do not identify such
alternatives. When they do, they do not valorize them as being valid contributions towards constructing a better society. The knowledge of
the south is dubbed as outmoded and considered as no knowledge at all.

The diversity of the world is reflected in:

A. Production of goods and leisure
B. Collective organisation of life
C. Conceiving time

D. Relations among human beings

Choose the most appropriate answer from the questions given below:

. Aand B only
. A, B and C only
Aand C only
A B.CandD
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Question No. 47 / Question ID 2196 Marks: 2.00

Read the passage and answer the question given below:

Alternatives are not lacking in the world. What 1s indeed missing 1s an alternative thinking of alternatives, whenever it 13 said that there are
very interesting things happening in Asia, Africa and Latin America, the Western answer is that developed countries do not have same
problems. As such. the West does not need their kinds of solutions. There are two inferences from this: First, the understanding of the
world 1s much broader than the western understanding of the world. This means that the progressive transformation of the world may also
occur in ways not foreseen by western thinking. It includes eritical western thinking. Second, the diversity of the world is infinite. Itis a
diversity that encompasses very distinct modes of being. thinking and feeling: ways of conceiving of time and the relations among human
beings and between humans and non-humans, ways of facing the past and the future and of collectively organizing life, the production of
goods and services. as well as leisure. This immensity of alternatives of life, comforts and interaction with the world is largely wasted
because the theories and concepts developed in the global North and employed in the entire academic world do not identify such
alternatives. When they do. they do not valorize them as being valid contributions towards constructing a better society. The knowledge of
the south is dubbed as outmoded and considered as no knowledge at all.

What is the western reaction to the things happening in Asia, Africa and Latin America?

1. The West is yet to reach their stage.

2. The West has the same issues as theirs.

3. The West does not have the same problems.
4. The West has plenty of alternatives.
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Question No. 48 / Question ID 2197 Marks: 2.00




E.ead the passage and answer the question given below:

Alternatives are not lacking in the world. What is indeed missing 1s an alternative thinking of alternatives. whenever it 13 said that there are
very interesting things happening in Asia, Africa and Latin America. the Western answer 1s that developed countries do not have same
problems. As such. the West does not need their kinds of solutions. There are two inferences from this: First. the understanding of the
world is much broader than the western understanding of the world. This means that the progressive transformation of the world may also
occur in ways not foreseen by western thinking. It includes eritical western thinking. Second. the diversity of the world is infinite. It is a
diversity that encompasses very distinet modes of being. thinking and feeling: ways of conceiving of time and the relations among human
beings and between humans and non-humans, ways of facing the past and the future and of collectively organizing life. the production of
goods and services. as well as leisure. This immensity of alternatives of life, comforts and interaction with the world is largely wasted
because the theories and concepts developed in the global North and employed in the entire academic world do not identify such
alternatives. When they do, they do not valorize them as being valid contributions towards constructing a better society. The knowledge of
the south is dubbed as outmoded and considered as no knowledge at all.

The West should know that

. Developing nations need western solutions.

. The world is more than what the West understands.
. The West should not share knowledge with others.
. It is always advisable to keep the world divided.
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E.ead the passage and answer the question given below:

Alternatives are not lacking in the world. What is indeed missing 1s an alternative thinking of alternatives. whenever it 13 said that there are
very interesting things happening in Asia, Africa and Latin America. the Western answer 1s that developed countries do not have same
problems. As such. the West does not need their kinds of solutions. There are two inferences from this: First. the understanding of the
world is much broader than the western understanding of the world. This means that the progressive transformation of the world may also
occur in ways not foreseen by western thinking. It includes eritical western thinking. Second. the diversity of the world is infinite. It is a
diversity that encompasses very distinet modes of being. thinking and feeling: ways of conceiving of time and the relations among human
beings and between humans and non-humans, ways of facing the past and the future and of collectively organizing life. the production of
goods and services. as well as leisure. This immensity of alternatives of life, comforts and interaction with the world is largely wasted
because the theories and concepts developed in the global North and employed in the entire academic world do not identify such
alternatives. When they do, they do not valorize them as being valid contributions towards constructing a better society. The knowledge of
the south is dubbed as outmoded and considered as no knowledge at all.

The author of the passage

. 13 critical of alternative thinking.

. favors the recognition of alternative thinking and solution.
. emphasizes the adoption of Western concepts.

. suggests uniformity of problems and solutions.
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E.ead the passage and answer the question given below:

Alternatives are not lacking in the world. What is indeed missing 1s an alternative thinking of alternatives. whenever it 13 said that there are
very interesting things happening in Asia, Africa and Latin America. the Western answer 1s that developed countries do not have same
problems. As such. the West does not need their kinds of solutions. There are two inferences from this: First. the understanding of the
world is much broader than the western understanding of the world. This means that the progressive transformation of the world may also
occur in ways not foreseen by western thinking. It includes eritical western thinking. Second. the diversity of the world is infinite. It is a
diversity that encompasses very distinet modes of being. thinking and feeling: ways of conceiving of time and the relations among human
beings and between humans and non-humans, ways of facing the past and the future and of collectively organizing life. the production of
goods and services. as well as leisure. This immensity of alternatives of life, comforts and interaction with the world is largely wasted
because the theories and concepts developed in the global North and employed in the entire academic world do not identify such
alternatives. When they do, they do not valorize them as being valid contributions towards constructing a better society. The knowledge of
the south is dubbed as outmoded and considered as no knowledge at all.

The Western theories and concepts

1. reject the alternative knowledge.

2. valorize the knowledge of the South.

3. support the creation of single knowledge world.

4. identify the immensity of alternative ways of life and interaction.
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